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7,160& » 3YH x 8A|Z2F * 200 34,368
o OIA22xH(SH)
7,160& * 10Y¥ * 40Al2F = 128 34,368
o X¥E 129,900€ = 38H « 12& 59,235
o SHA0ISE #Hu=
50,000 = 38%Y = 43| 7,600
o EXZ2(3%) 100,000,000& = 1H 100,000
23 (832251 34,000 32,480 1,520
Jl2 &4l 34,000 32,480 1,520
201 et 30,400 28,880 1,520
01 AP 2t 2] H| 30,400 28,880 1,520
0 2BtEZ2H|(Z2E) 15,200
0 S2HHI(2E) 8,0008 » 19¥ = 100 15,200
203 € R F=&d| 3,600 3,600 0
04 EASHEIRFEH| 3,600 3,600 0
0 BXN2d 300,000& * 12& 3,600
HEess(std25 1 168,600 37,335 131,265
BHEX= 168,600 37,335 131,265
BEIE 168,600 37,335 131,265
311 X 20| AHAH & 57,600 0 57,600
01 Al - & - PAEMED 2 XL 20| XHAE 57,600 0 57,600
0 HIi2MEHIISHel & ZEAY X2 A&0|
Xt 3,200,000,000& = 1.8% 57,600
701 JIEISI HSEES2 111,000 37,335 73,665
01 JIEIS HE =2 111,000 37,335 73,665
0 =&INEIISAMNEELEIH HFE2 111,000




